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% - Vance Company reported net incomes for a three-year period as follows:
2009, $186,000; 2010, $189,000; 2011, $180,000.
In reviewing the accounts in 2012 after the books for the prior year have been closed, you find

that the following errors have been made in summarizing activities:

2009 2010 2011
Overstatement of ending inventory $42,000 $51,000 $24,000
Understatement of accrued advertising expense 6,600 12,000 7,200

Required:
1. Determine corrected net incomes for 2009, 2010, and 2011. (9%)

2. Give the entry to bring the books of the company up to date in 2012, assuming that the
books have been closed for 2011. (4%)

2 ~ Washington Company has the following equity accounts at December 31, 2010.

Share Capital—Ordinary $10 par value, authorized 80,000 shares. $ 600,000

Share Premium—Ordinary $ 300,000

Retained Earnings $ 200,000
Required: (20%)

1. 2,800 ordinary shares were purchased at 20 per share. (using cost method)
2. A $2 per share cash dividend was declared.

3. 1,500 of the shares purchased in No. 1 above were resold at $21 per share.
4. 1,000 of the shares purchased in No. 1 above were resold at $17 per share.

5. Washington Company retired the remaining of the treasure shares purchased in No. 1 above.




